

Rikky & Mall

11/07/2025 09:00 AM | Delivery 11/08/2025 09:00 AM | Delivery 11/08/2025 05:00 PM | Event Date 11/09/2025 01:30 AM | Strike Over Night PO: Shipping Address: Rolling Green Invoice Date:

Due Date: Upon Receipt

Salesperson: Romina Manolio

1707/2020 01.00 AW   Ottine Over Hight			Salesperson: Normina Manono			
Description		Qtty	Price		Total	
Ceremony Area						
	Custom Made Chuppah 8'x 8' x 10'H Client to Pay Direct cost Painted in Black	1	\$850.00	T	\$850.00	
	Custom Made - Topper for Chuppah with Lace Using Client Linens to Create Top	1	\$0.00	Т	\$0.00	
	Clear Easel	1	\$30.00	Т	\$30.00	
	Pedestal - Buenos Aires - Clear 03 14"W x 14"D X 30"H	1	\$138.00	T	\$138.00	
			Total Ceremony Area		\$1,018.00	
Cocktail Hour						
	Garden Sofas - Caserta - Scalloped Love Seat Frame in Black with Covers in white 50 1/4"L x 22"W x 27"H	4	\$275.00	T	\$1,100.00	
19	Garden Club & Lounge Chairs - Caserta - Scalloped Club Chair Frame in Black with Covers in White 24 1/2 L" x 23" W x 27 H"	8	\$150.00	T	\$1,200.00	
	Coffee Tables - Toronto - Rectangular Frame pained in Black - Glass top 36"W x 22"L x 17"H - Frame Color & Top Upon Request	4	\$172.50	T	\$690.00	
	Ottomans - Standard Pod In white 18"RND x 17"H - Cover Color Upon Request	8	\$34.50	T	\$276.00	
	Mix and Match Pillows In Green- rest of Pillows are Found Rentals	4	\$25.00	T	\$100.00	
	Small Dining Tables - Marble & Black Base Bistro 23.5" x 28"H	4	\$120.00	Т	\$480.00	
			Total Cocktail H	lour	\$3,846.00	
Drape						

Description		Qtty	Price		Total
	Fabric in Olive Como velvet to Create Tech Booth With Short Pipe and base 32' x 40"H	1	\$0.00	Т	\$0.00
	Fabric Treatment in Olive Como Velvet with Valance 88'x 82'x12'H 400'x with Valance with pipe and base	1	\$7,000.00	Т	\$7,000.00
	Fabric Treatment to Cover dessert station area Como Velvet Olive with Valance 24'x25'x12'H 160 with Valance With pipe and base	1	\$3,000.00	Т	\$3,000.00
			Total Dra	ape	\$10,000.00
Reception					
	Wall Mirrors - Wood Frame 46"W x 76" H - Custom Frame Color Upon Request	2	\$402.50	Т	\$805.00
	Banquettes - Pasadena - Straight Ivory W/ Skirt 6' With Meadow Velvet Cover 6'W x 39"L x 30"H	8	\$345.00	Т	\$2,760.00
	Dj Booths - Santa Barbara - Moulding - Multicolor Painted in Seaweed Salad 47"W x 25"D x 48"H - Custom Color Upon Request	1	\$540.00	Т	\$540.00
	Table Lamps - Antique Brass For Tables 6" 1/4W x 16"H - Dimmable & Cordless	53	\$30.00	Т	\$1,590.00
	Napkin - White Poly/cotton Blend W/ Crochet Border 230 Total IN Stock in Good Conditions 19" x 19"	230	\$3.45	Т	\$793.50
	Sofas - London - Chesterfield 02 86"W x 40"L x 31"h	1	\$460.00	Т	\$460.00
	Coffee Tables - Bucharest - Brass & Mirror 44.5"W x 24.75"D x 20.5"H	1	\$287.50	Т	\$287.50
	Accent Tables - Bucharest - Brass & Mirror 19.25"W x 16.5"D x 24.75"H	2	\$138.00	Т	\$276.00
	Club & Lounge Chairs - Budapest - Vanity Chair Green Velvet & Fringe 25"W x 26"L x 28"H	4	\$207.00	T	\$828.00
	Club & Lounge Chairs - Manchester - Exposure Club Chair 33"W x 33"L x 43"H	6	\$287.50	T	\$1,725.00

Description		Qtty	Price		Total
	Console Tables - Oval Antique Brass 48.5" x 15" x 32"H	2	\$195.50	Т	\$391.00
F	Dining Chairs - Florence - White W/armrest & Wood Frame 27"W x 23"L x 40.5"H	2	\$21.85	Т	\$43.70
	Barback - Bora Bora - Gold (3 Piece Set)  Smaller Side only Not center  66"W x 14"L x 85"H (Center- 34"W x 14"D x 85"H / Each Lateral 15 1/2"W x 14"D x 85"H)	2	\$280.00	Т	\$560.00
	Pedestals - Band Front Stand - Multicolor Painted in seaweed salad 20"W x 14"1/8D x 37"H - 40 1/2"H	6	\$90.00	T	\$540.00
	Pedestals - Santa Barbara - Band Front Stand Large - Multicolor Painted in Seaweed Salad 22"W x 41"H	3	\$90.00	Т	\$270.00
	Pedestals - Santa Barbara - Band Front Stand Small - Multicolor Painted in Seaweed Salad 22"W x 33"H	4	\$90.00	Т	\$360.00
	Small Dining Tables - Marble & Black Base Bistro 23.5" x 28"H	4	\$120.00	Т	\$480.00
The state of the s	Stage Fronts - Boston - Center W/ Mirror 6'x14" To Cover 24' of stage - Painted in Black no Mirror 6'W x 14"h	4	\$60.00	T	\$240.00
			Total Reception		\$12,949.70
Panels For wall	and Sconces				
	San Ysidro Ranch Panels 4' x 12H Molding Seaweed Salad Semi Gloss	20	\$450.00	Т	\$9,000.00
	Sconces - Iron Armed Bistro Sconce W/ Clear Glass Globe for panels off to the side Behind Banquets 6"W x 8"D x 11.75"H	8	\$80.00	Т	\$640.00
	Sconces - Madrid - Multicolor For Gallery Walls behind banquets 7" x 13" x 5"h - Battery Operated - Custom Color Upon request	8	\$50.00	Т	\$400.00
-	Sconces - Brushed Gold Square for Stage Wall 8.26"W x 23.7"H - LED Battery Operated	6	\$80.00	Т	\$480.00
•		Total Panels For wall and Sconces			\$10,520.00
Lighting					

Description		Qtty	Price		Total
	Chandeliers - Manchester - Sputnik Brass	5	\$400.00	Т	\$2,000.00
*	40"W X 46"H - 35 LB - 450 Watts				
(D) (D)	Chandeliers - Manchester - Brass Large	5	\$400.00	Т	\$2,000.00
	48"W x 65"H - 30lb - 300 Watts				
	Chandeliers - Manchester - Brass Small	4	\$400.00	Т	\$1,600.00
	42"W x 52"H - 25LB - 300 Watts				
			Total Lighting		\$5,600.00
Existing Bar Fro	ont				
	Custom Made Bar Front Matching Found Bar E Cocktail Side	1	\$0.00	Т	\$0.00
	painted in HIgh Gloss Black with Wall paper provided by client 2- 83.5"x 34.5"H 2- 24.5"H x 34.5and 40.5"H				
	Custom Made Bar Front Matching Found Bar F- Cocktail Side	1	\$0.00	Т	\$0.00
	painted in hIgh Gloss Black with Wall paper provided by client 1-124"x 40.5H				
	Custom Made Bar Front Matching Found Bar A Reception side	1	\$650.00	Т	\$650.00
	Painted High Gloss Black With Wall paper Provided by Client 2- 121.5" x 34"H 2-25"x 34"H				
	Custom Made Bar Front Matching Found Bar-B Reception Side	1	\$450.00	Т	\$450.00
	Painted in High Gloss Balck with Wall Paper Provided By Client 2-83.5"x 34"H 2-24.5"H x 34and 40"H				
	Custom Made Bar Front Matching Found Bar -C Reception Side	1	\$450.00	Т	\$450.00
	painted in Igh Gloss Balck with Wall paper provided by client 1-122.5"x 40"H				
	Custom Made Bar Front Matching Found Bar - D- Cocktail Side	1	\$650.00	Т	\$650.00
	painted in Igh Gloss Balck with Wall paper provided by client 2-109"x 34.5"H 2- 25"x34.5"H				
		Tota	I Existing Bar F	ront	\$2,200.00
Crepe Station f	ront				
	Custom Made Fronts for Crepe station carts Front to match Found Bars Painted in Black 45"W x 36"H Sides 23"W x 36"H	2	\$175.00	Т	\$350.00
		Total Crepe Station front			\$350.00
Katubah Signin	g				

Description		Qtty	Price	Total
*	Dining Tables - Cartagena - Rectangular Black Wood 8' 8'W x 4'L x 30H, Top Thickness 1.7"	1	\$575.00 T	\$575.00
	Dining Chairs - Maui - Black Wood & Cane Back	12	\$28.75 T	\$345.00
8	Club & Lounge Chairs - Chicago - Black Velvet 36"W x 33"D x 27"H	2	\$264.50 T	\$529.00
8	Club & Lounge Chairs - Chicago - Black Velvet 36"W x 33"D x 27"H	4	\$264.50 T	\$1,058.00
*	Coffee Tables - Maui - Mango Wood - Smooth Black 24" Diam x 16"H	2	\$230.00 T	\$460.00
	Accent Tables - Maui - Smooth Wood - Black	2	\$172.50 T	\$345.00
		То	tal Katubah Signing	\$3,312.00
Services				
	Delivery Day 1	8	\$650.00	\$5,200.00
	Delivery and install Day 2	6	\$650.00	\$3,900.00
	Strike Sunday	8	\$650.00	\$5,200.00
	Transportation	3	\$350.00	\$1,050.00
	Artist Painting Menue Final Price till we get Bill this is a place holder	1	\$650.00	\$650.00
Note: Prior to d	hecks payable to Revelry, Inc. deliveries and pick-ups all invoices must be pay in full ne contract and sign it	Total Products: Total Labor/Services/Misc: Wear & Tear (0.00%): Packing (0.00%): Taxes: Discounts: Total: Payments: Balance:		\$49,795.70 \$16,000.00 \$0.00 \$0.00 \$1,533.94 (\$33,648.95) \$33,680.69 (\$0.00) \$33,680.69